

ABC Bid Data

STATEWIDE PAVEMENT MARKINGS

43933

NON-FEDERAL

PROJECT: STATEWIDE PAVEMENT MARKINGS

Awarded To: K5 CORPORATION

STATE PROJECT NUMBER: 43933

9 ROCKVIEW WAY ROCKLAND, MA 02370

FED. PROJECT NUMBER:

NON-FEDERAL March 23, 2023, 2:00

DATE BIDS OPEN: SCOPE OF WORK:

LOCATION:

Pavement Marking Maintenance via Contractor. Limited to Stenciled and Transverse

Amount:

\$488,977.55

Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

COMPLETION DATE:

Markings.

November 03, 2023

Grafton, Belknap, Strafford, Rockingham, Merrimack, Hillsborough, Coos, Carroll,

Award Date:

Summary of Bidders

Contractor	Bid Amount	Rank
K5 CORPORATION	\$488,977.55	А
9 ROCKVIEW WAY, ROCKLAND MA 02370		
MARKINGS INC	\$525,215.26	В
30 RIVERSIDE DRIVE, PEMBROKE MA 02359		
L & D SAFETY MARKINGS CORP	\$599,677.37	С
304 EAST MONTPELIER RD, BARRE VT 05641-8373		



ABC Bid Data

STATEWIDE PAVEMENT MARKINGS 43933

NON-FEDERAL

				F	PS&E		PORATION VIEW WAY ND, MA 02370	30 RIVER	INGS INC ISIDE DRIVE (E, MA 02359
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00
618.7	FLAGGERS	HR	950.00	\$50.00	\$47,500.00	\$20.00	\$19,000.00	\$40.00	\$38,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	62,299.10	\$2.50	\$155,747.75	\$3.50	\$218,046.85	\$3.25	\$202,472.08
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	805.00	\$2.00	\$1,610.00	\$2.50	\$2,012.50	\$0.75	\$603.75
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	8,960.00	\$2.25	\$20,160.00	\$2.00	\$17,920.00	\$1.25	\$11,200.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	2,679.00	\$4.00	\$10,716.00	\$4.50	\$12,055.50	\$6.25	\$16,743.75
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	14,655.00	\$5.25	\$76,938.75	\$6.00	\$87,930.00	\$8.25	\$120,903.75
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	1,355.00	\$8.00	\$10,840.00	\$8.50	\$11,517.50	\$12.50	\$16,937.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	11,436.90	\$8.50	\$97,213.65	\$8.00	\$91,495.20	\$8.25	\$94,354.43
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

Totals: \$459,726.15 \$488,977.55 \$525,215.26

Alt. Totals: \$459,726.15 \$488,977.55 \$525,215.26



ABC Bid Data

STATEWIDE PAVEMENT MARKINGS 43933

NON-FEDERAL

				ı	PS&E	304 EAST N	MARKINGS CORP ONTPELIER RD /T 05641-8373		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	
618.7	FLAGGERS	HR	950.00	\$50.00	\$47,500.00	\$25.00	\$23,750.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$66,000.00	\$66,000.00	
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	62,299.10	\$2.50	\$155,747.75	\$3.90	\$242,966.49	
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	805.00	\$2.00	\$1,610.00	\$1.66	\$1,336.30	
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	8,960.00	\$2.25	\$20,160.00	\$2.80	\$25,088.00	
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	2,679.00	\$4.00	\$10,716.00	\$4.50	\$12,055.50	
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	14,655.00	\$5.25	\$76,938.75	\$6.70	\$98,188.50	
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	1,355.00	\$8.00	\$10,840.00	\$7.75	\$10,501.25	
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	11,436.90	\$8.50	\$97,213.65	\$9.25	\$105,791.33	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	

Totals: \$459,726.15 \$599,677.37 Alt. Totals: \$459,726.15 \$599,677.37



PS&E Comparison

STATEWIDE PAVEMENT MARKINGS 43933

NON-FEDERAL

\$29.251.40

A-Bidder PS&E Unit **Total A-PS&E Difference** Item No. Description Quantity **Unit Price Total Unit Price Items** 618.61 \$ 12,000.00 \$1.00 \$12,000.00 \$1.00 \$12,000.00 \$0.00 UNIFORMED OFFICERS WITH VEHICLE 618.7 **FLAGGERS** HR 950.00 \$20.00 \$47,500.00 \$19,000.00 \$50.00 (\$28,500.00)619.1 MAINTENANCE OF TRAFFIC U 1.00 \$15.000.00 \$15.000.00 \$25,000,00 \$25,000.00 (\$10,000.00)RETROREFLECTIVE PAINT PAVEMENT 632.02 SF 62,299.10 \$3.50 \$218,046.85 \$2.50 \$155,747.75 \$62,299.10 MARKING, SYMBOL OR WORD RETROREFLECT. THERMOPLAS. PAVE. ۱F 632.3104 805.00 \$2.50 \$2,012.50 \$2.00 \$1,610.00 \$402.50 MARKING, 4" LINE RETROREFLECT. THERMOPLAS. PAVE. LF 632.3106 8.960.00 \$2.00 \$17.920.00 \$2.25 \$20,160.00 (\$2,240.00)MARKING, 6" LINE RETROREFLECT, THERMOPLAS, PAVE, 632.3112 LF 2,679.00 \$4.50 \$12,055.50 \$4.00 \$10,716.00 \$1,339.50 MARKING, 12" LINE RETROREFLECT. THERMOPLAS. PAVE. 632.3118 LF 14,655.00 \$6.00 \$87,930.00 \$5.25 \$76,938.75 \$10,991.25 MARKING, 18" LINE RETROREFLECT. THERMOPLAS. PAVE. 1,355.00 \$11,517.50 \$10,840.00 632.3124 LF \$8.50 \$8.00 \$677.50 MARKING, 24" LINE RETROREFLECT, THERMOPLAS, PAVEMENT 632.32 SF 11,436.90 \$8.00 \$91,495.20 \$8.50 \$97,213.65 (\$5,718.45) MARKING. SYMBOL OR WORD \$ 1010.15 **FUEL ADJUSTMENT** 2,000.00 \$1.00 \$2,000.00 \$1.00 \$2,000.00 \$0.00

Friday, March 24, 2023 Page 4 of 4

\$488,977.55

\$459,726.15

Total: